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QID : 101 - In the following question, select the related word from the given alternatives.

Bark : Dog : : ? : Sparrow

el gea & fow 1w fashedt # & Gl g 1 v

siferett : Fear 1 2 : R
Options:

1) Grunt

HIERTAT

JCRK]

2) Snort

9 2

3) Howl

Rreemar

4) Chirp

Correct Answer: Chirp

9 ST

Candidate Answer: Chirp
9 HT

QID : 102 - In the following question, select the related letters from the given alternatives.

ELQZ:AJOV::VXTD:?

rATaf@d gea & fow 1w fashedt 7 & Gefia 37&RT I giav|

ELQZ: AJOV::VXTD:?
Options:

1) GWXE

2) WGCE

3) XWGE

4) WCDE

Correct Answer: WGCE

Candidate Answer: WGCE

QID : 103 - In the following question, select the related number from the given alternatives.

40:100::56:?

T e & U 970 fashedl & & Heifta dear &I giav|

40:100::56:?
Options:

1) 140

2) 112

3) 118

4) 148

Correct Answer: 140
Candidate Answer: 140

QID : 104 - In the following question, select the odd word from the given alternatives.

TFeTad e & fU 910 fashoul & & fawe ereg &1 giav|
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Options:
1) Book
qEh
2) Pen
b
3) Pencil
e
4) Wax Colours
A T
Correct Answer: Book
NOGED

Candidate Answer: Book
JEdeh

)

QID : 105 - In the following question, select the odd letter group from the given alternatives.

T 9o & foU 91 fashoul & & fawe 31eRi & dHg i giav|

Options:
1) AZF
2) LOQ
3) EVK
4) ZAC

Correct Answer: ZAC
Candidate Answer: AZF

QID : 106 - In the following question, select the odd number pair from the given alternatives.

feeaforfe eat #f f4u a1v fashedt # & faws wear gva # giav|
Options:
1)41-22

2)63-93
3)82-44

4)83-64
Correct Answer: 63 — 93
Candidate Answer: 63 — 93

QID : 107 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Cadartrally
2. Caddisflies
3. Caducities
4. Caddisworms
5. Cadetships

Al ersal T ersawhier # 3e aTel e & AR ford|

1. Cadartrally
2. Caddisflies

3. Caducities

4. Caddisworms
5. Cadetships
Options:

1) 12453

2) 12534

3) 21345

4) 45213
Correct Answer: 12453

Candidate Answer: 12453

QID : 108 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
ACE, FHJ], KMO, ?
T 3egshe T o §, Toe# & Ueh e ofedl €1 foU 91 fashoul & & a5 @Y faehed YT, St 31eTshal b1 11 e |

ACE, FH3, KMO, ?
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Options:
1) QRS
2) PRT
3) PRU
4) QRV

Correct Answer: PRT
Candidate Answer: PRT

QID : 109 - In the following question, select the missing number from the given series.
9, 18, 72,576, ?
Prafaf@a gea & T a1v femedt # & qedt 3t w1d AT

9,18,72,576,?
Options:

1) 8116

2) 8216

3) 9016

4) 9216

Correct Answer: 9216
Candidate Answer: 9216

QID : 110 - Poonam told Akshay that "Yesterday she defeated Akshay's only sister's daughter Sneha in a school Taekwondo competition." How is Akshay related to
Sneha?

TTH, IETT A el ¢ foh, "ol 3HeT 36TT T Sehollc qge1 T JAT ToigT i [AeATelT T o ATSehIST TTcrdfarar & gIrdn 2AT|" 3767, Tigl & fhg JehR Faterd §?
Options:

1) Grandfather

grer

2) Father

yar

3) Cousin

HIRT 4TS

4) Uncle

HATAT

Correct Answer: Uncle
HTAT

Candidate Answer: Uncle
HATHAT

QID: 111 - In a row of boys, Tarak is 18t from either end. How many boys are there in the row?
TSH HT T UfFd H, IR UfFd & gleil ORI T 18-d TUTT W & dfFa 7 fhrdar o5 §7?

Options:

1) 19

2) 36

3)35

4) 42

Correct Answer: 35

Candidate Answer: 35

QID : 112 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given word.

ABSOLUTE
T 1T eaT &, fe=ATe i@ faehedl # @ a8 2o YT T G 91T 2rea o 37&RT T TA19T keh 6T AT ST Hehell |

ABSOLUTE
Options:
1) BASE

2) BOSE

3) LOSE

4) SOLVE

Correct Answer: SOLVE
Candidate Answer: SOLVE
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QID : 113 - In a certain code language, "OPTIMIST" is written as "LKRNRGHG". How is "PESSIMIST" written in that code language?

s faflrse Fg swT , "OPTIMIST" &t "LKRNRGHG" for@r SITdT §1 30 15 #ST & "PESSIMIST" Y fhd wehR forar siwam?
Options:

1) HGRNRVKHH

2) HHRNRVKHG

3) VKRNRHGHH

4) KVRNRHHHG
Correct Answer: KVRNRHHHG
Candidate Answer: [ NOT ANSWERED ]

QID : 114 - In the following question, correct the equation by interchanging two signs.
4-10x5+9+3=51
AFAfaf@d weet 7 fohedr &F fReg! & RER Tgaat [GF T FHEIOT &l Tel AT

4-10x5+9+3=51
Options:

1) x and -

X 4T -

2) +and x

+ dAaT X

3) +and -

+ dur -

4) —and +

—dur +

Correct Answer: + and —
+ dur -

Candidate Answer: + and —
+ dAT -

QID: 115-1f 12 (20) 16 and 21 (35) 28, then what is value of A in 48 (80) A ?

fg 12 (20) 16 T 21 (35) 28 &, dr 48 (80) A 3 A T HTeT FIT §?

Options:
1) 50

2) 56
3) 64

4)72

Correct Answer: 64
Candidate Answer: 64
QID: 116 -

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

ST v # Gy or ool ¥ uw R
(?)%F TUE W HH T TEA H FEAT

8|6 15| 2 2 | B
96| 2 60| 2 120| 6
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Options:
1)3

2)4
3)8

4) 14
Correct Answer: 4
Candidate Answer: 4

QID: 117 -
How many triangles are there in the given figure?

i & o g o Rt Pt &7
//‘l\lxhx“m

.

S
S

Options:
1) 38

2) 44
3) 46

4) 54
Correct Answer: 44
Candidate Answer: 44

QID : 118 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

L. All dens are spiral.
II. Some spirals are cards.

Conclusions:
I. Some spirals are not cards.

II. Some dens are not cards.
III. Some cards are den.

A T T geeT F & U 3R 3% a1g 3 YA W IR Fo forseny few a1v §, greifeh 303 @ A1 aeai § Bewtar 8 Fanch §1 Tl Ty ug 3l
iR &t o v a1e #lar & vy, G 1w et & 3maR R gfeasnd g1

HYed:

I 78 Tt wifeR g1
I1. %o FifeTsR #1S 8|

fasay:
L. Fo ARIATHR F1S 761 8

II.smalwﬁaﬂéHﬁ%I
IIL. & &S AT &1
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Options:

1) Only conclusion (I) and conclusion(II) follow.
Fael sy (1) 3R sy (11) | &1

2) Only conclusion (III) follows.

el Toses (I11) EE &1

3) All conclusions follow.

Taht sy Ty §1

4) No conclusion follows.

#r$ ot forsend &ér =18y ¥

Correct Answer: No conclusion follows.
1S off ey T 78 B

Candidate Answer: No conclusion follows.

I &Y fosehd T A 1

QID:119-

Options:
1)C

2)D
3)F

4)G
Correct Answer: G
Candidate Answer: G

QID : 120 - Identify the diagram that best represents the relationship among the given classes.

Professionals, Chartered Accountant, Female
a6 3G AT S A R a1v gait & v & daier &1 @8y fAwgor e g

AR, TATOF TIHRT dE@TaSRY, AT
Options:

Correct Answer:
Candidate Answer:

QID:121-
Which answer figure will complete the pattern in the
guestion figure?

@l H 3o HPA TH FFId & IATT & G
FHE?
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Options:
1)

2)
3)

4)

Correct Answer:
Candidate Answer:

QID: 122-

Options:
1)

2)
3)

4)
Correct Answer:
Candidate Answer:

QID:123-

Options:
1)

2)
3)

4)
Correct Answer:
Candidate Answer:

QID: 124 -
Options:
1)
2)
3)
N ®
% ©
4)
Correct Answer:

Candidate Answer:

QID: 125-

Options:
1) 00, 04, 68, 02

2) 21, 41, 97, 41
3) 34, 12, 55, 11

4) 42, 23, 89, 23
Correct Answer: 00, 04, 68, 02
Candidate Answer: 00, 04, 68, 02

http://thepracticetest.in/cs_cglet1_17kesporssl Qasstidnd phig?tHasmrruobiamic=asppiv=1668062d72 to7i60Ea 7 17h2c90c3885¢ 7/23



91712017 Download More Pape8tftSelectionCommisiony vtJobs Alert.In

QID : 126 - Which among the following is not an instrument of fiscal policy?

AEfafla & @ Fia a1 v Terg AN @ a7 78 &2
Options:

1) Taxation

FRTETT

2) Public expenditure

el ST

3) Public debt

@R T

4) Credit Rationing

shisc TRAfear

Correct Answer: Credit Rationing

hise erfar

Candidate Answer: Credit Rationing

sse Trerfaer

QID : 127 - Which of the following equation is/are INCORRECT?

I. NI = NDP + Net Foreign Income
II. GNP = GDP + Net Foreign Income
III. NDP = GNP - Depreciation

Tt & & iet |1/& FHIeoT TE e /87

L. UA.3TS. = U39 + Ao faeeh ama
IL Shuardt, = Shavd. + @ge faged 3
IIL .39, = SLeA. . - 3asq]eaet
Options:

1) Only (I) and (II)

haer (I) T (II)

2) Only (III)

Faer (I11)

3) Only (II) and (III)

gl (IT) 2 (I11)

4) Only (II)

Faer (I1)

Correct Answer: Only (IIT)

Faer (I11)

Candidate Answer: Only (III)

haer (III)

QID : 128 - Comptroller and Auditor General of India is appointed for how many years?

AR & e Td Agraa@riers i Rgfed fhde auf & faw i s §2

Options:
1)2

2)4
3)6

4)5
Correct Answer: 6
Candidate Answer: 6

QID : 129 - Who is the custodian of Contingency Fund of India?

R & TR EHPAT AT T TI&TH P 87
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Options:
1) The Prime Minister
JeTAAAT
2) Judge of Supreme Court
Hafed T & Famaredrer
3) The President
Tegafa

4) The Finance Minister

IEGEEL

Correct Answer: The President

regafa

Candidate Answer: [ NOT ANSWERED ]

QID : 130 - Who was the first female emperor of India?

R T g7 AT AT et A2

Options:

1) Noor Jahan

GRS

2) Razia Sultana

NERIRIC

3) Rani Rudrama Devi

Tt TG AT gl

4) Queen Didda

Tt feeT

Correct Answer: Razia Sultana
NERIK I

Candidate Answer: Razia Sultana
NERIRIC

QID : 131 - Who was the first Governor General of India?

R & TUH IR el DT A?
Options:

1) Lord William Bentick

oS faforge dfew

2) Lord Dalhousie

GEECHED

3) Lord Cornwallis

oS FlAaTorT

4) None of these

ST q IS AET

Correct Answer: Lord William Bentick

s fafoge dfew

Candidate Answer: Lord William Bentick

oS ffos dfew

QID : 132 - Which of the following planet is also known as 'Earth's twin'?

Frafaf@a # @ i & a5 =t g2t 1 Faar o w1 S 82
Options:

1) Mercury

e

2) Venus

?ol’;F

3) Jupiter

geeafd

4) Saturn

erfer

Correct Answer: Venus
Jed

Candidate Answer: Venus
eg
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QID : 133 - Which of the following imaginary lines join places with same level of rainfalls?

Fafaf@a 7 & fFa Fredfas 18T & GaRT THATT I TR dTel TATAT 1 SATST ST 872
Options:

1) Contour lines

FATg Y@

2) Isobaths lines

FHIHRAT Y@

3) Isohyets lines

FATE @

4) Isobar lines

FHATT @

Correct Answer: Isohyets lines
FHIST @

Candidate Answer: Isohyets lines

FHAE Y@

QID : 134 - What is study of fungus known as?

BHE AT FHash & AT I FAT Fgel 87
Options:

1) Physiology

R Tranfaae (Rrfeatars)
2) Phrenology

AfRTSH oo

3) Mycology

Fae ATt

4) Biology

Sha fasmeT

Correct Answer: Mycology
FHash Gt

Candidate Answer: Mycology

Fas AT

QID : 135 - Which of the following bacteria is responsible for the formation of curd?

frefafla # & #ie a1 Shary & & a1ea & T ScaRard i 82

Options:
1) Lycopodium

CIECAEIERES

2) Yeast

GHR (Pee)

3) Lacto-bacillus

CEgACIRrr: ]

4) Fungus

BHS AT Hash

Correct Answer: Lacto-bacillus

CETACIRrer: |

Candidate Answer: Lacto-bacillus

EETACITrers)

QID : 136 - How many pairs of ribs are there in human body?

AT R A qafordl & e sis €2

Options:
1) 13

2) 11
3) 12

4) 14
Correct Answer: 12
Candidate Answer: 11
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QID : 137 - When a ball is thrown vertically upwards, which of the following quantities remains constant during its motion?

T 3Gl AGYaH H FH e SAlel T 3T AT & SN ool e 7 & Hief-dr e AET 3’ et §?

Options:

1) Energy

LS

2) Displacement
T

3) Velocity

afa

4) Acceleration
caRoT

Correct Answer: Energy

ES 1

Candidate Answer: Displacement
[GEIeC

QID : 138 - What is the SI unit of heat energy?

3SAT &7 T, TS, ATTH FT g7
Options:

1) Joule

EC)

2) Newton

et

3) Calorie

Eaeiny

4) Kelvin

Ffeast

Correct Answer: Joule
ST

Candidate Answer: Joule
Slel

LN

QID : 139 - Which system is used by the Digital Computers to encode data and Programs?

3T AT (FFCYET) GaRT S AAUT WATH I Hihideh Asal H d&clel & [l et JoTrell a1 39T el 82

Options:

1) Decimal
CRAHd

2) Binary
ST A gfaaor
3) Hexa decimal
LIERIKIILIN

4) Octal
JrseTemy

Correct Answer: Binary
ST URICEI)
Candidate Answer: Binary

areerl an e

QID : 140 - What is the common name of Sodium Bicarborate?

AT STEHrElcc HT ATROT AT F4T 2
Options:

1) Baking Soda

GTeT T TNST AT SfhaT AT

2) Washing Powder

FU3 Ylel T I3

3) Plaster of Paris

TATEeR 31T aRE

4) Fly Ash

EEGRIC

Correct Answer: Baking Soda

Qo &7 GYST IT SfehaT AT

http://thepracticetest.in/cs_cglet1_17kesporssl Qasstidnd phig?tHasmrruobiamic=asppiv=1668062d72 to7i60Ea 7 17h2c90c3885¢

11/23



91712017 Download More Pape8tftSelectionCommisiony vtJobs Alert.In

Candidate Answer: Washing Powder

FY et T I35V

QID : 141 - Which of the following is an ore of iron?

frafaf@a F ¥ Fia a1 v e #1335 §?
Options:

1) Dolomite

AT

2) Epsom Salt

e THE

3) Siderite

Ag-3oT

4) Galena

IeleAT AT ATLROT FHoal JrT
Correct Answer: Siderite
Ag-3odT

Candidate Answer: Siderite
Ag-3eet

QID : 142 - Which of the following has maximum bio-diversity?

frafaf@a 7 ¥ sifeda s fafayar frae g 82
Options:

1) Desert

HEE]l

2) River

e

3) Polar Region

A &

4) Tropical Region

SSUTReTY 8T

Correct Answer: Tropical Region
3SUTRTEEY &1F

Candidate Answer: Tropical Region

SSUTRTCHY &1

QID : 143 - Who will be implementing the Varishtha Pension Bima Yojana scheme during financial year 2017-18?

e a¥ 2017-18 & eR1eT aR™s Sere ST AT HT THaleade HlaT HIIM?
Options:

1) National Insurance Company Limited

TSET ST Her foaffes

2) New India Assurance Company Limited

g 3331 veaRy Fue faffes

3) Life Insurance of Corporation of India

AR Sfiaet ST e

4) SBI Life Insurance Company Limited

THAITS St AT Hue fafdes

Correct Answer: Life Insurance of Corporation of India
HARA St AT e

Candidate Answer: SBI Life Insurance Company Limited

TS SiaeT YA SHuel [AfAes

QID : 144 - Albert Sabin is known for developing .

3Teac Fifae @t P fAT It & foT ST ST 8
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Options:

1) smallpox vaccine

T BT el

2) polio vaccine

qiferat &1 Erer

3) penicillin

IR

4) hepatitis B vaccine
e & &1 SeAr

Correct Answer: polio vaccine

qiferar &1 St

Candidate Answer: hepatitis B vaccine

gUersfed o & &t

QID: 145 -

Options:
1) 1-b, 2-a, 3-c

2) 1-c, 2-3, 3-b
3) 1-b, 2-¢, 3-a

4) 1-c, 2-b, 3-a
Correct Answer: 1-b, 2-a, 3-c
Candidate Answer: 1-b, 2-a, 3-c

QID : 146 - Who amongst the following is a renowned Indian classical dancer?

Rrafaf@d # @ @i ve 9ffig AT AT i §?
Options:

1) Palghat Mani Iyer

JeTaT Hail 3T

2) Madhumati

Fegwr

3) Sonal Mansingh

Ao AT

4) Siddheshwari Devi

fageadr &

Correct Answer: Sonal Mansingh
BT ATARE

Candidate Answer: Palghat Mani Iyer
JeTaT Hall 3T

QID : 147 - Who among the following did not receive the 2016 Arjuna award in the field of 'wrestling'?

foefaf@a # & fry ‘el & &7 & 2016 F7 370l REHR g1 HeT 82
Options:

1) Virender Singh

[EIG-AE

2) Vinesh Phogat

faerer whme

3) Amit Kumar

AT FAR

4) Rajat Chauhan

Lot dtgreT

Correct Answer: Rajat Chauhan
Tor gt

Candidate Answer: Virender Singh

oo &g
QID : 148 - Who has written the book 'The Ministry of Utmost Happiness?

T FATEEY 31T Srcaee Roiiere’ Jeae fraet fordt 872
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Options:
1) Chaitanya Padukone

A= drgehIoT

2) Amitav Ghosh

Jiffare gy

3) Pramod Kapoor

sl

4) Anundhati Roy

Jrefa AT

Correct Answer: Anundhati Roy
rgafa AT

Candidate Answer: Anundhati Roy

3 I

QID : 149 - Which country became seventh member of South Asia Sub regional Economic Cooperation (SASEC) on 31 March 2017?

31 ART 2017 & FieT AT U ETE0T TRIATS 39 7 3T AT HeraeT T AT TETT T §7

Options:
1) Myanmar
AR

2) Bhutan
s

3) Nepal
AT

4) Maldives
AT

Correct Answer: Myanmar
AR

Candidate Answer: Myanmar
AR

QID : 150 - How many Indian states share their boundaries with Nepal?

HRA & fhcet ST A4Ter & ATY HIHAT ATSHT R 82

Options:
1)3

2)4
3)8

4)5
Correct Answer: 5
Candidate Answer: [ NOT ANSWERED ]

QID : 151 - Which of the following can't be the unit's digit of a perfect square?

PFfaf@d 7 & wieT A quf a2t &7 TS 37 T 81 Thell 62

Options:
1)4

2)6
3)8

4)9
Correct Answer: 8
Candidate Answer: 8

QID : 152 - Amar can complete a work in 30 days and Raman can complete the same work in 15 days. If both of them work together, then in 4 days what percent
of the total work will be completed?

AT T 1 Y 30 Al & U F Fehell § AT IHA 38 &1 &1 15 ll 3 O X Fehell §1 AT QA eIt v Y, A 4 Flt & oot a1 7 Toctarr wifcrered & g &
SRyem?
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Options:
1) 15

2) 37
3) 40

4) 45
Correct Answer: 40
Candidate Answer: 40

QID : 153 - The lengths of two parallel sides of a trapezium are 21 cm and 9 cm. If its height is 10 cm, then what is the area (in cm?) of the trapezium?

T HHT T AT FAT AT 6 oars 21 F.7. TUT 9 A B1 IR 3@ IS 10 WA §, A FHAT H &BA (.72 ) fopcter grem?
Options:

1)35

2)75

3) 150

4) 225

Correct Answer: 150
Candidate Answer: 150

QID : 154 - What will be the net discount percentage of three successive discounts of 20%, 10% and 30%?

20%, 10% TAT 30% T AT Sideh Tl T el (7¢) Te Ticrrd 4T grem?

Options:
1) 45.2

2) 49.6
3) 54.6

4) 50.4
Correct Answer: 49.6
Candidate Answer: 49.6

QID : 155 - Three bottles of equal capacity have mixture of milk and waterinratio 5 : 7, 7 : 9 and 2 : 1 respectively. These three bottles are emptied into a large
bottle. What is the percentage of milk in the new mixture?

T THATT &THT hT SicTell 3 G TUT ITolt & AT T IeTUTA AR 507,72 9 AT 2 & 1 §| FoT clieT SlicTell T Teh 151 siclel 7 WIell & (&7 STl &1 773 07 & ger o
gfaRrd fhde &2

Options:

1) 49.6

2)52.3

3)51.2
4) 50.7

Correct Answer: 50.7
Candidate Answer: 50.7

QID : 156 - Seven friends spent Rs 14 each on a project and the eighth friend spent Rs 21 more than the average expenditure of all eight of them. What is the
amount of total money (in Rs) spent by them?

a1 A A TR 7 Tk Wistere W 14 T T R § 9T 3Ted T o T8l 3Te o 3 T @ 21 %, S3meT T T 1 377k SRt @ Y S Fied TR (3. H) e 82
Options:

1) 133

2) 136

3) 141

4) 155

Correct Answer: 136

Candidate Answer: 136

QID : 157 - A person sold his pen for Rs 24 and his profit percentage was numerically equal to the cost price. What was the cost price (in Rs) of the pen?

Teh STl & 37T holdl 24 T. & ST TUT SHHT AT HToRId HEATHR Y Hed & SNIeN AT| SHold &I T Hed (T. H) 41 417
Options:

1) 12

2) 14

3) 16

4)20

Correct Answer: 20
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Candidate Answer: 20

QID : 158 - A, B and C are three students. A got 36% less marks than B and 16% more marks than C. If B got 145 marks, then what are the marks got by C?

A,Bamcm;rmsrmAﬁsﬁ%%mmawcﬁw%mmmmmaﬁsaﬁmsmmg&n’s‘,mcﬁmﬁaﬁwggﬁ?

Options:

1) 120

2) 110

3)80

4)75

Correct Answer: 80

Candidate Answer: [ NOT ANSWERED ]

QID : 159 - After repairing a scooter runs at a speed of 54 km/h and before repairing runs at speed of 48 km/h. It covers a certain distance in 6 hours after
repairing. How much time will it take to cover the same distance before repairing?

Teh ToheT FAFH Il o e 54 .37, Jfeh ver &y a1fel § =eralr § U1 #AFAT o) & Tgol 48 T80, gfcd wer &1 a1 & Fefcl § | #EHAT I o o6 9 Teh Tl oeret
G T 6 U H TT FAT & | AWFAT e 8 UGl T§ FHI g0 1 T lel & fehclell GHY o1am?

Options:

1) 6 hours 15 minutes

6 g¢ 15 fAere

2) 6 hours 45 minutes

6 ©< 45 fAeTe

3) 7 hours

7 €¢

4) 7 hours 30 minutes

7 & 30 fAsie

Correct Answer: 6 hours 45 minutes
6 b¢ 45 AT

Candidate Answer: 6 hours 45 minutes
6 ©T 45 AT

QID : 160 - If a certain sum of money become thrice of itself in 5 years 4 months at simple interest, then what will be the yearly rate of interest (in %)?

I 5 a¥ 4 AT 7 FURYT SIS Y & § U AR T T @ fAeA g et , ot iR samet aX (% &) a7 ghef?
Options:

1) 18.75

2)27.5

3)37.5

4) 42.25
Correct Answer: 37.5
Candidate Answer: 37.5

QID:161-Ifa+b +c =11 and ab + bc + ca = 17, then what is the value of a3 + b3 + ¢3 — 3abc?

FfTa+b+c=11aumab + bc+ ca=17 &, ar a3 + b3 + 3 — 3abc &1 AT =T §IM?

Options:
1) 121
2) 168
3) 300
4) 770

Correct Answer: 770
Candidate Answer: 770

QID: 162 -

Options:
1) 144

2) 288
3) 396

4) 488
Correct Answer: 488
Candidate Answer: 488
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QID: 163 -

Options:
1)-1

2)0
3) 4

4) 16
Correct Answer: 0
Candidate Answer: 0

QID : 164 - If (x/5) + (5/X) = — 2, then what is the value of x3?

T (x/5) + (5/x) = — 2 &, A x3 T #1eT T g1om?

Options:
1) -125
2)5

3) 1/125
4) 625

Correct Answer: —125
Candidate Answer: [ NOT ANSWERED ]

QID : 165 - In APQR, QPR = 45° and the bisectors of 2PQR and 2PRQ meets at O. What is the value (in degrees) of ZQOR?

APQR #, £QPR = 45° AT £PQR AT 2PRQ T gfa#israr fiig O oR fAerar §1 2QOR &7 AreT (7Bl #) & ghemr?

Options:
1) 107.5
2) 112.5
3) 117.5
4) 122.5

Correct Answer: 112.5
Candidate Answer: 112.5

QID : 166 - In triangle ABC, £ABC = 90°. BP is drawn perpendicular to AC. If ZBAP = 30°, then what is the value (in degrees) of ~PBC?

T91eT ABC &, £ABC = 90° &1 BP, AC ™R o< TirelT a7 §1 I £BAP = 30°, Al 2PBC &1 #1=T (f$3t #) = gram?

Options:

1) 30

2) 36

3)45

4) 60

Correct Answer: 30
Candidate Answer: 30

QID: 167 -

Options:
1)2.5

2)3
3) 4.5

4)5
Correct Answer: 2.5
Candidate Answer: [ NOT ANSWERED ]

QID : 168 -

Options:
1) 144

2) 216
3) 256

4) 288
Correct Answer: 144
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Candidate Answer: [ NOT ANSWERED ]

QID : 169 - What is the simplified value of (cosec A + sin A)(cosec A —sin A)?

(cosec A + sin A)(cosec A — sin A) &I GTcllghe HIeT T §?
Options:
1) cos? A + cot? A

2) 2 cos® A
3) 2 cot? A

4) 2 cos A cot A

Correct Answer: cos? A + cot? A
Candidate Answer: 2 cos A cot A

QID:170 -

Options:
1) cosec A
2) V2 cosec A

3) 2 sec?A

4)secA

Correct Answer: V2 cosec A
Candidate Answer: [ NOT ANSWERED ]

QID:171 -

Options:

1)sin A+ cos A
2) 1 +sin 2A
3) 1+ cos2A
4)tan A+ cot A

Correct Answer: 1 + sin 2A
Candidate Answer: [ NOT ANSWERED ]

QID:172-

What is average per acre yield (in million tonnes) of these 7 countries?

5oT 7 &2it i3t ufa vers 3cure (AT e ) fFae 82

Options:
1) 163.14
2) 184.28
3) 146.78
4) 198.26

Correct Answer: 184.28
Candidate Answer: 184.28

QID:173 -

What is the respective ratio of average per acre yield of the 3 countries having the highest yield to average per acre yield of the 3 countries having the least yield?

o 3118 Scutee arel 3 it & 3 G Tehs Scdlee ol Fad A 3 32T o A il Tehs ScuTes T 3efulel shafer: FT gram?

Options:
1) 148 : 65

2) 201 : 149
3)89: 69

4) 137 : 51
Correct Answer: 137 : 51
Candidate Answer: 137 : 51

QID: 174 -
Total per acre yield of India and China is what percent of the total per acre yield of the remaining countries?

IR 7T el T Fel It Tehs ScueeT sehT &Rt o el Ufel Tehg Scleet T fehelell Tfcrerd 82
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Options:
1) 44.34
2) 56.68
3) 83.24
4) 79.66
Correct Answer: 79.66

Candidate Answer: 44.34

QID:175-

All the countries are arranged in ascending order of per acre yield. If bottom 2 countries increases their per acre yield by 20% and all other countries increase their
per acre yield by 10%, then what is the new average per acre yield (in million tonnes)?

T it Y 9fS Ths ST & RIS vl A caaieyd forar amar §1 afe 31fae 2 &er 319er ufd vehs 3cutest 1 20% & JgTd & a2t arhr Fefl &er 319 ufa vehs e
H 10% & FoTd §, @ 9fa vehe Icdtes 1 4 aa (Ao e &) Fr §?

Options:

1) 205.37

2) 210.82

3) 201.19
4) 199.26

Correct Answer: 205.37
Candidate Answer: [ NOT ANSWERED ]

QID : 176 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The reason Priya was late (1)/ to the meeting is because her (2)/ flight was delayed. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 2

QID : 177 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Not only did they offer him (1)/ good salary but provided (2)/ him with a beautiful bungalow. (3)/ No Error (4)
Options:

11

2)2

3)3

4) 4

Correct Answer: 2

Candidate Answer: 2

QID : 178 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

His father him up in a construction business.
Options:

1) built

2) hold

3) keep

4) set

Correct Answer: set

Candidate Answer: keep

QID : 179 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

I have respect for his achievement.
Options:

1) abundant

2) profound

3) strong

4) unique

Correct Answer: profound

Candidate Answer: profound
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QID : 180 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Boast

Options:

1) Avoid

2) Change

3) Rely

4) Pride

Correct Answer: Pride
Candidate Answer: Pride

QID : 181 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Haste

Options:

1) Burden

2) Expect

3) Hurry

4) Sight

Correct Answer: Hurry
Candidate Answer: Hurry

QID : 182 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Refulgent

Options:

1) Dark

2) Loud

3) Rough

4) Sweet

Correct Answer: Dark

Candidate Answer: Sweet

QID : 183 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Skeptic

Options:

1) Believer

2) Erroneous

3) Nervous

4) Nihilist

Correct Answer: Believer
Candidate Answer: Believer

QID : 184 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Herculean task
Options:

1) Important task
2) Motivating

3) Optional to do

4) Very difficult task

Correct Answer: Very difficult task
Candidate Answer: Very difficult task

QID : 185 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

On tenterhooks

Options:

1) Flattery

2) In a disorganized manner

3) In anxious suspense

4) Speak quickly

Correct Answer: In anxious suspense
Candidate Answer: In a disorganized manner

QID : 186 - Improve the bracketed part of the sentence.

Neha (would be looked) beautiful in Indian attire.
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Options:

1) had looking

2) was looked

3) would look

4) No improvement

Correct Answer: would look

Candidate Answer: would look

QID : 187 - Improve the bracketed part of the sentence.

(People have been long known) how important the trees are to them.
Options:

1) People have to know long

2) People had long known

3) People have long known

4) No improvement

Correct Answer: People have long known

Candidate Answer: No improvement

QID : 188 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

An associate in crime
Options:

1) Accomplice

2) Callous

3) Itinerant

4) Philistine

Correct Answer: Accomplice
Candidate Answer: Accomplice

QID : 189 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Man behaving more like a woman than as a man
Options:

1) Biped

2) Effeminate

3) Gregarious

4) Inalienable

Correct Answer: Effeminate

Candidate Answer: Effeminate

QID : 190 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) Ecstasy

2) Profecient

3) Sacrifice

4) Temporary

Correct Answer: Profecient

Candidate Answer: Profecient

QID : 191 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) Familiar

2) Grammer

3) Narrator

4) Operator

Correct Answer: Grammer
Candidate Answer: Familiar

QID : 192 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P- On the earth, liquid forms and solid forms (ice/snow) predominate.

Q- The water cycle has two distinct branches the atmospheric branch and the terrestrial branch.
R- Water plays a versatile role in the functioning of the biosphere.

S- In the atmospheric, water exists mainly in gaseous form.

Options:

1) RSPQ

2) RQSP

3) RPSQ

4) RQPS

Correct Answer: RQSP
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Candidate Answer: RQSP

QID : 193 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P- For however elusively, it still knew of harbours and anchors, of homes to which to return, and of barns in which to store the harvest.
Q- The works of the early Renaissance and the poetry of Shakespeare vibrate with the compassion for live experience in danger of dying from exposure and neglect.
R- Yes, it was a genius of courage, not of desperate audacity.

S- In this compassion was the creative genius of the age.

Options:

1) SQRP

2) PRSQ

3) QSRP

4) RSPQ

Correct Answer: QSRP

Candidate Answer: [ NOT ANSWERED ]

QID : 194 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

Sunita has written a story which fascinates everyone.

Options:

1) A story has been written by Sunita which fascinates every one.

2) Everyone is fascinated by the story which has been written by Sunita.

3) Every one fascinates the story which is written by Sunita.

4) Story written by Sunita fascinates everyone.

Correct Answer: A story has been written by Sunita which fascinates every one.

Candidate Answer: A story has been written by Sunita which fascinates every one.

QID : 195 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

Rajesh ordered his driver to do as he was told.
Options:

1) Rajesh ordered his driver “Do as you are told”.

2) Rajesh said to his driver “Do as I told you".

3) Rajesh said to his driver “Do as you are told”.

4) Rajesh said to his driver “Do as you were told”.

Correct Answer: Rajesh said to his driver “Do as you are told”.
Candidate Answer: Rajesh said to his driver “Do as I told you”.

QID : 196 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Management is a set of that can keep a complicated system of people and technology running . The most aspects of management include
planning, budgeting, organizing, staffing, controlling and problem solving. Leadership is a set of process that creates organization in the first place or adapts, them to

changing circumstances. Leadership defines what the future should look like, aligns people with that and inspires them to make it happen despite the
obstacles.

Management is a set of
Options:

1) instructions

2) resources

3) processes

4) proposals

Correct Answer: processes
Candidate Answer: instructions

that can keep a complicated system

QID : 197 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Management is a set of that can keep a complicated system of people and technology running . The most aspects of management include
planning, budgeting, organizing, staffing, controlling and problem solving. Leadership is a set of process that creates organization in the first place or adapts, them to

changing circumstances. Leadership defines what the future should look like, aligns people with that and inspires them to make it happen despite the
obstacles.

of people and technology running
Options:

1) fastly

2) reliably

3) smoothly

4) sharply

Correct Answer: smoothly
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Candidate Answer: smoothly

QID : 198 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Management is a set of that can keep a complicated system of people and technology running . The most aspects of management include
planning, budgeting, organizing, staffing, controlling and problem solving. Leadership is a set of process that creates organization in the first place or adapts, them to

changing circumstances. Leadership defines what the future should look like, aligns people with that and inspires them to make it happen despite the
obstacles.

The most aspects of management include planning budgeting, organizing, staffing, controlling and problem solving.
Options:

1) dangerous

2) difficult

3) important

4) terrible

Correct Answer: important

Candidate Answer: difficult

QID : 199 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Management is a set of that can keep a complicated system of people and technology running . The most aspects of management include
planning, budgeting, organizing, staffing, controlling and problem solving. Leadership is a set of process that creates organization in the first place or adapts, them to

changing circumstances. Leadership defines what the future should look like, aligns people with that and inspires them to make it happen despite the
obstacles.

that creates organization in the first place or adapts, them to
Options:

1) normally

2) run

3) show

4) significantly

Correct Answer: significantly

Candidate Answer: significantly

changing circumstances.

QID : 200 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Management is a set of that can keep a complicated system of people and technology running . The most aspects of management include
planning, budgeting, organizing, staffing, controlling and problem solving. Leadership is a set of process that creates organization in the first place or adapts, them to

changing circumstances. Leadership defines what the future should look like, aligns people with that and inspires them to make it happen despite the
obstacles.

Leadership defines what the future should look like, aligns people with that and inspires them to make it happen despite the obstacles.
Options:

1) look

2) role

3) source

4) vision

Correct Answer: vision

Candidate Answer: look
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